Score

ﬁ PLACE VALUE

PV:IV:38
Check mark the right option.

The place value of digit 3 in the number 32,719 is.

a) 3,000 b) 300 c) 30 d) 30,000

The place value of digit 6 in the number 12,632 is.

a) 6 b) 60,000 c) 600 d) 6,000

The place value of digit 9 in the number 48,129 is.

a) 90,000 b) 9 c) 90 d) 900

The place value of digit 1 in the number 50,210 is.

a) 10 b) 1,000 c) 100 d) 10,000

The place value of digit 2 in the number 81,251 is.

a) 200 b) 2,000 c) 20 d) 20,000

The place value of digit 8 in the number 28,904 is.

a) 8 b) 8,000 c) 80,000 d) 80
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Score

ﬁ PLACE VALUE

Answer key
PV:IV:38
Check mark the right option.

R The place value of digit 3 in the number 32,719 is.

a) 3,000 b) 300 c) 30 d¥730,000
2) The place value of digit 6 in the number 12,632 is.

a) 6 b) 60,000 <600 d) 6,000
3 The place value of digit 9 in the number 48,129 is.

a) 90,000 Y9 c) 90 d) 900
4) The place value of digit 1 in the number 50,210 is.

¥ 10 b) 1,000 c) 100 d) 10,000
>) The place value of digit 2 in the number 81,251 is.

9Y200 b) 2,000 ) 20 d) 20,000
6) The place value of digit 8 in the number 28,904 is.

a) 8 £Y8,000 c) 80,000 d) 80
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